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Use additional reading time to go through the question paper, select the questions and decide
on the questions that you give prierity in answering. JJ
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(i) Bog @ gdmbEo BEns vewwn,
616060 silean BB ELEHID ollenL. HHE.
Answer all guestions. :
(i) 1-40 o= gdwoe (1),(2),(3). @) BEciofs BO5E ewl DEns oeeum owd BEgd enit os3nm.
1 QErdat 40 susmpusien geitsmg slamaligud (1),(2).(3),(4) aar aremeni L L sllent safish Fflusrer

SEveg V&l Gurmpssorar el ows bisfiabeiis.
From each of the questions I fo 40, pick one of the alternatives (1), (2), (3), (4) which you consider

is correct or mest appropriate.
(iil) @90 woews BEa% cged & 65 ydos o € ¢ B0 gyedsl 88 ewic: o BEael gumwel wiret®
e me (X) cpes ewicsis.
o &G eupRsHULGisT ol forellsd @eGar®m eleTasGd o fu) sul LRGN 2 1%
oLl Bevsssms gbs alLsHgehGar ysienyeour (X) BEs.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.
(iv) 58 BEno; vned Bgos € B send coeed ¢ maBdecs Suls, I ¢ BEuiuin.
el SFTedd wIILGHHSH SIUULGST 1HmmL SNaDHHEOSMETLID HAGIIONS arfiGm oebmpl
HeLimis.
Further instructions are given on the back of the answer sheet. Follow them carefully. )

1. @ & g8 B o ween gy 080 8desiocs DrierS e®ulsl nes (7
Neteumesuataubmyst UL Gsiten L1y @B@0 QuTGhsLoTst b FaGmsal ergy?
Which of the following is the correct time signature for the given bar?

(h§ @ 3 33 @ {5

2. com gE@edn wdn Sl S 088 Bdericud end wBxlis 80 gdes edud § R Sost e ¢f
Geeugpd @evs uty Geen ob AECaFIFBEG ghu  YIEMOTEGMBDGS Gaenauimes  GperdL
SFOLL. Beltemeupaet srgi?
Which of the following rests would suit to complete the given bar according to the time signature?

W 79 @ 77 @ 777 @ 7

-
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& B Reted Hdeds emdd 80 ooy emwde ¢?
SILLL Belten  Hlewi_gHls0 gms Bebeong o siier GCmral Ubssht chsemen?
In the given illustration how many crotchet beats are silent?
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€ a8 Jou8s3 B0 C 0 00id 5 8 v ¢ &Sode 9@ ¢
S Befrenswbmelt figsd C Biivg 5 Cnaimen Sipras o _siem adaumd agi?
Which of the following notes is five tones below Middle C?

n T o B 5 95 o PP

2 a8 00ad B8 7 gue fOds ven wens SDi8xs @ ¢?
Ursugmeustaubmell ST Felen eiiagdboidbe Guwegy 7 Guweoren sbauftb e1g?
Which note of the following would form a Major 7™ above the given note?

=

fo :
mwFE——F o i P Q) Z= @

a1Eed Wect 8§ dedded vung ogedd ecdll 8med €00 bles’ vwm FBIBT B ¢?
Uiareumeusreudimielt oiebGyn dlonst et edGrelt Bmipd £Cp (pFeomb Qv encvaliel erbsUTIOTEIGE 1517
Which of the following is the letter name of the note on the first Leger line below the stave of
the Alio clef?

1 A 2y C (3) D “4) B

¢ 08 Sect eobsf svn S50, Eb 88 v ewule goterd R ¢?
SIULIL. Befren HlGlencumienen Ueeugpd ebaurd B guaushalt LusniGhs Gousmiguigs am?
Which of the following clefs should be used to make the given note Eb?

be-

Wt Ogs—— @

iedd e B i eOist vy emsden ¢?
@&yl ganfiaet adsman CrreissT 2 sioner?
How many tones are there within any octave?
(L 3 2 4 3y 5 @ 6

O =—

Lt

eé;%

o=@ 5 Bderiods ofin desE gocs dned e®8s nd ¢?
HefiaumousmeuBpist 956 & Haladseryds G@rain eulmsusefiar Gamg egi?
Which of the following pairs of scales would have the same Key signature?
(1) Bb major/Eb minor (2) F minor/Ab major
(3) C# minor/D major {4y E major/C minor

[ 365 800 Resm. / ud. 3 @i urjds / See page 3
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2 B S0l 988 Jubon vt ewtlame Duies’ @ ¢7
Lhefeuqmeuasubaet soweny Lywibnien (pseomd SCaufsar eig?
Which of the following is the [% inversion of a minor triad?

ho e
(1)& @ FEFES— ® &ﬁm @ F=g |

2 g5 Sn8s BE0d cved edim bolen 2@ ¢
Uidaxmeusiaubmst tlevras BInssmd @bHSH 61dhi?
Which of the following is similar to Bilawal Raga?

9} . .
& - [ Frey [ 4] ~ 1178 i3 eyt 113
D Ay o e e 2 =) S S H
leﬁ)_c) =~ i — L% Py H]
v
-3
é‘,' 1Y > 11 9 1]
(3) o e} © -~ 1 (4) :@*' = i3 A Xy 5 H
il Py had ¥ =

g g gt gmedsl con enido wde u8drh descs RO ¢7
ersuqseuemeungstt syt Geiisn Gam’ o et Qamiysrw adGmed agi?
Which of the following scales is associated with the given chord?

'- l};_
é;t:
 ———

(13 A major (2) D minor (3) F major {4) A minor

wm 801 apds’ & e goba Budnd wdy cRTes n@Ess ¢Y
esreugpeusteummiet SO Geien Lgwis Beven efeuflliugy ez’
Which of the following would describe the given triad?

o 3
i —o-—

(1) Ib (2) Ve 3y Vb @ Ive

2 g g bl REn eoics vos 80605, Dioe Biy CAID #D0ws’ Bnd o) ey cre® ¢f
edioupeuseunmsii  eibstl  QuLelamen  oupbsIbBursl, BmesstuGD edard M bl PellSHIS

%) fe o S Y 1 TS
Which of the following pedals, when depressed would sustain the notes played?
(1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

2 48 erfdwins Bund ndg chvier 8 @Bt ¢?
edrenmeusmeubmst syUn Gsiien GaLaed Beven aleufliug agi?
Which of the following describes the given cadence?

0

-4 i

oy P

ol hen

e e o

%Y [ % ] L%

o d——" —
(1) TImperfect cadence in C minor (2) Plagal cadence in Bb major
(3) Perfect cadence in EP major (4) Amen cadence in G minor

‘Buadds miBio o giies nPn eni® ded ¢?
‘anfiujegerbd eieip adsb abhs augeldd (form Feb) GHIpHLILIL (BoiTemg?
In which given form is ‘Hemoresque’ written?
(1) Ternary Form (2) Variation Form
(3) Rondo Form (4 Binary Form

[4 B 800 Deda. / udk. 4 gl unfdbs / See page 4
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17. & g8 greoodens ogid eesient com o @85 ¢? ., e
LafrauheustauBmie syt Geiren @femGlosin Beven efleufiliig) s1g? gg
Which of the following describes the given ornament? e

{1y Mordent (2} Acciaccatura
(3) Inverted turn {4) Arpeggio

18. Z a5 00858 nom esirins DBl 80 otdmnuid emids oddd wisiess ¢?
Uefeurmeueiaubaustt Gmeais GQaom dsbd Qumbearsm Csrl. Bemern) LweaLB s 2 (meura GoLsiend 6157
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence {2) Perfect cadence
(33 Plagal cadence 4y Imperfect cadence

19. &0cemd guiEsn Sus [ 08 Sowes Dsiest pos ¢?
sl SHEG Guweinrs o Leiterd fﬂ@img,m{m'} GO CU@oug asiear?

What is indicated by a dot above a note f ?
(1} Play the note with an accent (2) Play the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20, € o8 I gmBui S E0ws apded 00m Digs wieRied ¢
Wesrsubeuareubms Hafl fi. Beovard Qarai. Bosssmel ag?
Which of the folowing is a single reed instrument?
(1) Trumpet {2y Clarinet (3} Oboe (4) Bassoon

21. Dy wdwm 0060 Bt obem3l vws v WO »D® Digs wEha e’ R ¢7
BengsslLIBE ebardhons ol ghs CUitudy Bprs g6l aepinbh Basssmal amn?
Which instrument sounds a perfect 5th lower than the played note?

(1) Piccolo (2) Cor Anglais (3) Trumpet in Bb {4y Clarinet in A

22, owm Stn gwbst et w.dm wuems Duies’ o ¢?
Leraipeusteulmis L.Cyrslr Qensdamred ag1?
Which of the following is the drone instroment?
(1) Oboe (2) Mandoline (3) Tampura (4) Sitar

23. 2 aiB wBm Beitas B!, 080 dems! Sucma Us B0 grewnrles’ Rdm Sdawmess usedm gumdad ¢?

Fri Beisn - @ematl  GUwiy BT Cgbum @b BevssaliuGibGurg  MNsiiaumeussieuiimist  sTgled
@i Can’ Geftenourmy Caladamipuisns Bupd@ib? b
Which of these would be heard when the given musical extract is played on a Trumpet in B ?

24, 2 B dOde Dime 2O gude iedsien pedss ¢? g
HIUUL Geften erbaufdens BlengsEid alsh Beabilsd afled efeufdalng Gefsnd?
Which illustrates the way the given note is played?

o JTT7 o 3 3

A
5 &5 B eaw. [ ud. 5 gl uniss [/ See page 5
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25, von guiedn p@m gmiew BO0E oD ¢7
LieiteugpeueiauBmIel LT SnBml S15I7
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section
(2) The Piccolo sounds an 8 higher than written.
(3) The Conductor tunes the orchestra.
(4) The Saxophone is an important instrument of the orchestra.

26. 2 B Domsed ogeum HNCE Blew e Bsl pd@m dJeem &7
SO Geten anrSSUSSIGGL CuIGSSoTEr sfure shaHd Semmist aidah o_sherigt?
Which of the following would be the correct rhythm to match the given sentence?
“Yankee doodle came to town, riding on a pony.”

o 3dddid A b RN RRL
o 84 ST DL DITII 24
(S)EDHIHJIJ_UJ_J;JJH

w 444737 1S TTTG

27. aledd &m wodn wivles’ 85 28> ¢7
tetreumeuameuBmiel 618ed LghCam LWELIBSHSULBD?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. @80 eefmndid’ GO mEg wBmwmed s mifiun Drles’ vun O Nend
eaxmeueeuppiet ‘epaaneouln Qaterppr Bener Guibpiu Beng aS@HE WwBmGTE Semaurssid

g7

Which of the following is another composition by the composer of ‘Moonlight Sonata’?
(1)  Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. ‘8ogo @3 ¢ 0lnl gBdd Bna ques OgBnd o» dojewd Bl mEnf c?
eliaugpeueanaupmstt ‘Aridn Get  Gular e rusdull L e SISl 1Buyfeed s1m?
Which of the following musicals has the popular song ‘Singin' in the Rain™?
(1) Mary Poppins  (2) Wizard of Oz {3) LionKing (4) Sound of Music

30. ‘Boansted’ am es@0 B0dd ¢ldw egrlew’ B@m» vew ¢7
‘PLT LT asiuge aBysaphmes SmD Carsd 6157
Which term gives the opposite meaning of ‘Ritardando’?
(Iy Crescendo (2) lLarghetto (3) Vivace (4) Accelerando

31, 2 a8 F08s ‘em@d® sodne’ v BdRTmDe eagHdses mOTW 7
Westsumeussaummistt ‘LBGgrafgmb wWwdd o e Gpmjlseans Boms Hbob 17
Which of the following compositions is net associated with Programme music’?

(1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32, ‘Pecwl B gt By cbomum tun 8w ¢oens’ mES ¢7
WeteumGaunfled ‘@enuiy 19 g Belt Bens sysb@eny wf?
Which of the following is the composer of ‘Clair de Lune’?
(1) Liszt (2) Debussy (3y Gershwin (4) Schumann

[ 686 80P Dess. / udb. 6 @i uihés / See page 6
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33. »w208 Bood Oulest 8uf @ ¢
eiianpeuamsuBmiel EILED LTLed &igi?
Which is a song from a Nadagam?
(1y Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

3. nom Oimeds Bdnd 9oy cITes B8 vuduned e(dm guca ¢?
UaiteumsusiieuBmien sibs LUHSSHHET HLb@id allgd FPmHST susimndsHsd afaufibalinBaing?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant {4) Snake

35. Penddd mBud d5ies) 8 ©OGS ¢?
Uettauqpeuenisufimiel  ghlserilysd sybsb aml?
Which is an orchestral composition?
(1} Liebestraum (2) Gollywog’s cake walk
{3y Lohengrin {4) Bolero

36. & 18 w.Bowas’ godst oidd @lBmo 080 odcm emcpbdes moedd ¢?
Ueitougpld Gans g b@GETesNsd mgred Sensul 6 GsmLfifebeomseuf wy?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong (2) Prokofiev
(3) Scott Joplin (4) Duke Ellington

37, oom qpdednm s OIS e @D &f
EfeTeuipetsauBmsT Lienpwimer Sim ets?
Which of the following is a false sfatement?
(1) MIDI is a standard way of connecting one keyboard with another.
(2) Synthesizers can record, edit replay music.
(3) Dls wvse a mixing desk to combine different tracks.
(4) Sampler is a piece of equipment that can record, process and playback bits of sound

38. ooBmon mmsens’ ns Bus Bed¢d qEiedsies vum € @ n@y Ddemens’ ¢?
Uersugpeuemsuipe wetensiian genist Gurseumall trusTLBSEUILED Brbysefisr semismiidasenitid
GOLIGaG 1517
Which of the following states the number of strings commonly uwsed in a mandolin?

{1} Four double metal strings (2) Five single strings
(3} Six single strings (4) Fight double metal strings

39. Bwemid o mibn B B dbows 8= ¢?
Lafteumsustisubmish wn@enr widHd LweLuBSsIuBD Bme obsh ag?
Which composition uses only the Piano?
(1) Blues (2) Swing 3y Ragtime {4) Be Bop

40, 2 o5 S00ldst 9O B0 S gun emnddied 88 wodE ¢?
Reirsumeuameupe Lrbdn Bne . fibseoarssl a5l?
Which of the following dees not belong to a Drum kit?
(1) Floor Tom (2) Ride Cymbal (3) Tomiom (4) Conga drum

tttttt
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General Certificate of Education (Ord. Level) Examination, December 2019

woBma (gudin) L1
griBHD (Gomestsur) 1,11
Music (Western ) L1l

woBrm (qoote) / srdsd (BamsngEsw) / Music (Western) 11

on this paper itself.

1 9o gBoe goD A o B emddolsl gdn ecn a8 eniticon, gdv cund BERT «88 oged © sunsim.

1 ayb eflem o e uss A, ueH B aswspieinbe Besiyend cianssmend CHfabruig, asdeonions
b Senssabe Bbsraftotu oo sus.

Answer five questions including question No. 1 and selecting two questions from ecach of the parts A and B

[ Bwow goma / s oiew /Index No. ... j

For Examiners’ Use only

{41) Music (Western) 11
Part Question No. | Marks Awarded
I [ Final Mark
({n Numbers }
2
lin Words J
A 3
4
5 Code Number
Marking Examiner
B 6 |
Marks Checked by:
7 2
Supervised by
Fotal
\ A

vy

[ 8 &% 800 PDesw. / ud. 8 sl Lafés [ See page 8
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&8 i Gelten Gonal GuuHL SwuaTalitd Cal s Geiten alaTHoEnsE ol RDLEALS
Study the musical extract given below and answer the questions.

Allegro
p —=_b ﬂb - aih’ e e e - gl = =
i — e o T i ) S gﬁ,igi_ SR e A - e
e 4 4 4
£ 7 @ 5 ool o £ B ol T
1 195 5 IVJ = L} ;’) L2 ﬁ x. ﬁ P . i [ :f Lt 1)
b s £ 4 7 Fi %" i 3 g ]rj 7 L] £ ! Z. I 7

fmeg ~
N
Lisl
XL
e i
-q: *
it
ﬁ <
L
v
L
15 S
bl
v
T
L
»|
I
Ld

P o
e/
B
e £ > o
D e e e B B = =
N d—" e AN S =0 I RO T A e 7 7 - i S —
- e o8 =
.’.
I3
“ﬁ
s g ya va o % 7 il) v %F\ Vi ﬁ = | ] - 7 7
Y L .4 i 4 17 ¥ = o &
e’ ¥ r ¥ i = = F ”
3::;}2%3‘-“9‘% 5 id ﬁ‘}” P, ) NS > = £ £
L H;;/ L V',-’ '?j.' AT ’{'j‘.w}’ gj} -b{?-‘jyfwmm—a ? ¥ ftr"ff'
L2 s~ S H
&
!\f !k) ~ 3 T
BN IO vl
g ) Mn" ~ ,-,,,,,ot,,g,, 7

;“2': i !J 7 | - 7
Y
3 - g - 2 -
s 5. g 5 § { g g i % 7 §
e ¥ P4 = PRI R R — o7 ”
I I . .
At A o - {7? — j’) 7 [}9; T d“-m_am-gﬁ Ee - {-.-,_ “ e -
i o r T i l - &

(i) =08 mBo G 08l dewced €. 89108 B B8der’dde w.8m gdmded geg B8 gumes! mosim.
B ousbob G Guoml ebGsed Beosiong. sfwiem & AaCmesmy @ons aOBHImEE GLRBHSHINTS
2 LG5S
This piece is in G major. Insert the correct key signature appropriately in the music score.
(i) «@8 088 Bdlesitcs Bdesw md €0d gedmded® graes wouim.
Bger b AdCardoand Horalds owms oy s8amfled o 1 (G,
Decide on the time signature and insert it in the score.
(i) (a) ©ef omded & wbnn B8 B domd e®Byecd o ¢?
pasd diflallsd Griun Geten Sews eibs & Sig Oomgu@eor eydleiima?
To which key does the music modulate in the first Section? ...........oo.iviiiii i ieeeeel

(b) @8 gom wgwsd wosis.
o flur ur Sevdarimenens G IGs.

State the bar BUMbBEIs CONCEIME. ... . 0 e

9 &8 BOD Beavn. / uk. 9 g umse [/ See page 9
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(iv) @8 gom | 2o 8 gmd 0difs B derd o erdould &m ‘A’ ecs GRE B enfdsioe »E oduim.
LTy Bevdatb 1-8 eusy Gyrelis & B o_siten GoLaad gdenp ‘A’ aerd G G, Cat aerie GlLuwsmys
.

Find the cadence in the Tonic key between bars 1-8 and mark it as ‘A’ and name the cadence.

(V) =88 mBed enl® O endewst Budnd wosim.
Sis sysadsdar CGumb @oad &mbdats olaifldes.
Briefly describe the form of this piece?

Vi) =808 mefed eOBewr d2n 88 wosim.
s apbasAdr Cnblur @emean eflendis.
Explain the tempo of the piece

(vil) @@ miBe e@®sitE gowd gust ed. & gf B & sodnwgest nulecsn gl noy Gumamd oo
semices edd €83 yedmded Budn dhimasis aumed edslm.
Bhs Qb Grmordngs stesanG 2 fug. SO G HameouLssl, Gos SLSHGHT  cpailf
st HhE QUTmHGHSIOTE HemeolimLiid Gams sydbghorub GsflaGsuig abGsmied Gldbssrer
B SPld 2 1 1EH515.
This composition belongs to the Romantic period. From the three titles and the composers given below
choose the most likely answers and insert them in the appropriate place in the score.

¢ Title: Waltz of the Flowers, Serenade, Soldiers” March
o Composer: Franze Schubert, Robert Schumann, Pyotr Tchaikovsky

(vii) @l gom 1 -4 o @B deidw 08 B de® @y g8 &0 v Bw ¢?
vy Bevdatd | -4 Geusiien Bensd Gt 1D DhBHE & 2 Ll s1hHmetl Sienaubel S LU Beliengy?
How many times does the music of bars 1 — 4 appear in the same key throughout the piece?

(ix) @b qom 17 23080 O @O exmda vy Bugma o gy 8. J agm gog shmed 8§80 olls ewgsim.
unip @evcbatd 17 @sd eynfla@o Gremb LGS BB Haadaliul CouwiBid. SISHEHTS EenaFutish

o flur BLided M eiufior BFs.
The second part of this piece, commencing at bar 17, should be repeated. Place the repeat signs at the
correct place in the music.

(X) @5 qom 17 ww 18 8 883 oo 9Be@Ss o@de 06 @l qom 29 ow 30 sowvigpo 20 08 o=
@@ o eDndn®s wewsl wouiD.
umy @evdsid 17, 18 syusubenm unj Seodsd 29, 30 gfluspmsden G sbgib, ammEiGioTais
Sl ewambon Uil ( opbilanTen @f @b Saenwmuuib @b GMpiLL HEinwenUD
GUIUTGS.
Compare the rhythm and harmonic structures of bars 17 and 18 with bars 29 and 30 and write a similarity
and a difference.

—

110 &% 8P Desen. / uk. 10 gi wniss / See page 10
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O

@in)

{iti)

(i)

A emide /ugd A/PART A

D@ udz eCom0 BB woasin,
semeBuigih e eflenTdsende ol waldsgs.
Answer any two questions.

Eb c®dln B B8derion o8y ghedine wy gredne gummded eddds 8doumd and F decd S
Busim. 088 Bdestdde amedd mosim.

E!7 Boggy eCmeney & NaCmiFamt @ wubiTsen BrrHean angaisd Gounederd sHESEHIGCmHU F &ericl
b aiepHIB. ek ASGanroamis Boidms.

Write the E° major scale with key signature, in descending and ascending form, using F clef and
the rhythm of a waltz. Add the time signature.

G eosioednBs demced €00 emg BB & qif 080 Bdew’odud viges §d0wmd gmd @li 4w
mmOes Bhdnesw wooim,

G GueyGyralid sBselsd euagmismentt LILSTLIGSS Sl Been oyb ASCamEsmbGI OUTIHIHITET
FhGHHBHIBHIMDUL 4 LTTaHEhHETRT QDRI 66iens sy, :

Write a 4 bar melody using notes from the G pentatonic scale, in a rhythin io fit the given time signature.

A

(s
Wy
e

& 918 00chu @=5edd O vofst 0dd Weed derd Boo O A@’@Eﬁd@cﬁ" wlg O sl B0
GuBesiod ewgnim.

sy Beiten Giosvgenut Guerd Hemsit @sd oy ebGrel Sprns s10pd), S A Cuefled gedeumb alssam
Fflurenr oG syt Gy

Transpose the given melody an octave lower in the Bass clef and add correct accidentals to make
this melody sound in A major.

T ——

; 3
g_-__ﬁ‘“g P

pE

g g8 DO g eemedinugs mbn o8l 688w Busim.
SO Geiten CGanbaende CaamGiral @@Epl MUGHILGSHS FHhesInGEnn 60paHsH.
Write a rhythm pattern on a monotone to the given words.

i love a lonely winding road

That takes me where I cannot see,

Until each softly rounded hill,

Reveals its landscaped mystery.

William Wordsworth

J

{11 &5 209 dealn. / us. 1 g uiidés / See page |
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(i) oo § g8 e®clc ¢y g8 d0d gves! v eslodd e g8 00 yobuim. ace 088 Bdersitos
em b 83 ewigeim. c@8 B dord 5@ ow 89 wdnm Beabw gus Sna »® wdsim.
Uledreuqptd Gosorg Bed syt Beltsn erbany Gugitoreitisel, E@Casbmensd gl IGU Goer Craab
Bevaitt Yrewniibheis. o fur g HEGmssy, unf euflsmed Gaides. Baw & B Guusngupb
Banad glewi.ib o _flsanen urLeds Uil GitnIGs.
Complete the melody given below, filling in the missing notes according to the note values and intervals
indicated. Insert the relevant time signature and bar lines. Name the key and the name of the song.

(a) Perfect 4" above (b) Major 3" above {c) Major 6" below
{d) Minor 3" above (e} Minor 7" below (f) Major 3" above
| A
A s e o ’ ‘ °
:by m' : J & i J F ! :’j ‘J az 1 i = =
&1 L] T T I 1 &
(IS B L led L1 L3
(@ () (c) (dy (o) H
Key: Name of song:

4. (i) (8 o® Aelded edod efDsld novd gu. Sined edd qum Bw O wowm.
Hatreugptd  Guwiiniled apstipn Geumit L Gt siied o eitenien.  syeumflesr B&m”  @pfluiBsemenu b
GoLaenilen GQLUISHIUID SIIDHIS.
There are three different cadences in the following extract. Write the chord indications and name
the cadence.

(b) gDeve U &m =@yles B8O BowWE &850 gowsl o8 o8 gen efwlows Ba o8
iz,
B Ly Bementt Yrewi LIGHEHIISHEGS Ffluirer sibeuy(l QUIDTEMIEmeNTI LILIESTIGEHE) 1 haSI0Tel
CoLaied Benant 6100, onpett Cunengs GRIGs.
Complete the last bar with a suitable cadence, using correct note values and name it.

{4 - | '3 I v : i } | T
T e B e
@—P’E e B s - Py o Sy Rp— 5 o
A A A o b For P
SRSV N DOV I T N 1 N N 0 I O T
s P —F e e e
[ P | | i | ] . < ;

(1) can & g 0o ReNE0 98 eealud vges uBctnd odus Basty. agesy ed8em, erifo
o DBwBrded wdybies eBEDE0 ewicslm.
SPO Gefien Giosvgenis 9By unhdAB@GH Gurgbsioner eysigfi 6red GaTsHail LI ILp S!S,
LIemt LB A Geaowsal Gunmdaiorer Gnbdur, 118Fdm, o anféed GafoHms.
Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.

. vy
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B emwbe fugd B/PART B
Bsn® gdds econd 88no; vovzim.
stenaBuiennd Bresi® elanrdoende shenLwallbgs.
Answer any two questions,

5. (1) egac Hdecd 8 8 o8By mlie@msd 5560 aawm ¢Bd dedd8 odfd gedne@st el g Owdd,
@En08 858, 850 vl empdd ecw 8010 gog wif Bouim.
C Qg alemsit @sd eiapadin L Ginsvigenul emmjwsneated OFulsugng Gued edgmel Esd 2 Gyms
Beaudaddapsien Lywimed, GLmme iflefiberd, ifafibed oebengl GEBIGIEF a1h 61t FhhoHHib@ DU 6HIHGI%.
Write the triads shown by the Roman numerals, accordingly as dotted minims, minims or crotchets in
the Bass stave to harmonize the melody written in the Treble clef,

% 4
)

g

i & T T | T ; ;
13 pra i 1 K I | i ] i y 3
CREFEE SRR e —
| ey . -~
B i N
¥ ¥ 1T ¥
=
kil
I ivb il Vb v I

(i) & Eomoed Sfin Boed & giff F0BJ 2.8n HO0 gedmc eudlo ©.8m €00 gedmcon wosim,
Beomemauiar Cpdfil Sasdlsd syiu Geion GwamedGhu onds aoony e, &HmPHSaL Fmhibg,
GOsHY  UEDFLITG 1A HIILISHLOSE:SH.

Convert the given phrase in western notation of the Sri Lankan Anthem to oriental notation.

PrAN S ] 1 i I : |
- ‘ | ! e B
R T a—— e = P f—
\—W
7
o] | \ .
P A [Ar - Py I 15 ] .Y H J—
AT Y iy sl & =5 “Mﬁel L 3 [ i = 1 |. i &
[ Fan Wil ud yd i 3y i a3 ol ] i n 1 1 =
St T E F H v | . boud H Y o
e ! | e

13 &5 80D edo. / ud. 0 UiEs F See page 13
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6. (1) 2 g el O 08 »i8 e®8 wldin Deide ewld dendl HBVD mdn Bwsin.

Sl Beiten erd@ye Semertt LAUGSS Bbs Qmgd glewn sHlamsr Gagm 0B (psmpulied i

SHPEHIE.

Re-write this passage in short score using the given stave.

1 1 m l i n
[ —— e —— | |
i e ]
e A e e o e A e A m m Mm
= i |
%-*:Pf??ff R e
~ , , )
i 1
R S ———=  —
| i i | — - H H
i | i i i |
™ N
— T e e ——
] e 2
(i) (8) Cagd dedeed 803, 8 18 dedded egad Perd ewigp Cusim.
C Lemperd eibBasliar sioagmissmard sTULL GeTten solyeh s L Omifelt Sl8emsh LwSIBHE s11pGLE.
Write the notes of the Blues scale on C in the given stave in the Treble clef.

(b) ied wlimed Oicor cegu:s wowsd wdviz.
samed Benauwiler (pdhalil Uatiburaenmss @iitilGs.
State an important feature of Jazz music.

(¢} @ewtildm 50350 oD gqurd w8 e sgos =8 om0, 0 emdewst Budnd wdsio,
s getinflsh ey alen. GHbushGIhE @ fu Bangdsmalss Gyangs Gufaamend @riral’ @,
Siamenmd smHHsTs aflowfldas.

Name two instruments that belong to the woodwind family in an orchestra and briefly describe each.
G T O P PP
2 T O T U TR

800 demm. / wb. 14 @i unjas / See page E:}
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7. () vop 8 g1 8083 S i wBmd Jdod wdwis.
&6 HiLE GellenauBiied alaamnb ganiienst 2 HTTarmIGEHL o aHlaifihds.
Explain one of the following with examples.

Vannam, Raga, Prashasthi

(i) com e mB D Bg wdnwwnst m® Bosin.
1Nereugp sybamigaielr Gang syb@BIEedar QUTHmET FIpHID.
Write the name of the composer of the following compositions.

Composition Composer
Young Person’s Guide to the orchestra

Rite of spring

(VI S

The Entertainer

4 | Rhapsody in blue

(iii) (a) =08 18si B® gowwd gost ed ¢?
Bba aybanse 6hshs srasnibe o lusiergi?
Into which period do these compositions belong?

(b) ®® Yowd ewig § Crieen ecHw gy’ oI,
Basreosdngfiu Sren® Curgil vt |Baend GIUUIGS.
State two common features of this period.

(iv) nd 0:8m guoewst sy 92fuiBed DOmm® ¢xfduim. (s sy nefiind®, wsc nlic
Bacm medtdend®, edemiDl meafbie® o8l Do woglines)
uiLgeney Esng  SuB@maselsd unguBmegSensien (pdElLGasubmss GBS, (LITLFTsme
Benad@Eep, U _gTene aurhiud@gip, Orsbaril iy URGUBDID S Hibalsmsi)
State the value of participating in school musical performances. (such as school choir, school band,
and recorder group concerts)

1 ot
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